Bid #PNC2115491C1 - North Regional Wastewater Treatment Plant - Effluent

Creation Date Nov 21, 2017 End Date Mar 9, 2018 2:00:00 PM EST

Start Date Jan 19, 2018 12:03:46 PM EST Awarded Date Not Yet Awarded

PNC2115491C101-01 Mobilization an	d Demobilization					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Poole & Kent Company of Florida	First Offer - \$100,000.00	1 / lump sum	\$100,000.00	Υ	Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					
MCM ^{II}	First Offer - \$295,626.00	1 / lump sum	\$295,626.00	Υ	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Cardinal Contractors, Inc.	First Offer - \$340,000.00	1 / lump sum	\$340,000.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			
Kirlin Florida, LLC [Ad]	First Offer - \$340,000.00	1 / lump sum	\$340,000.00	Υ	Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:			

PNC2115491C101-02 Performance and Payment Guaranty and Insurance								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cardinal Contractors, Inc.	First Offer - \$54,000.00	1 / lump sum	\$54,000.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
MCM [■]	First Offer - \$177,000.00	1 / lump sum	\$177,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Poole & Kent Company of Florida	First Offer - \$300,000.00	1 / lump sum	\$300,000.00		Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:					
Kirlin Florida, LLC [Ad]	First Offer - \$340,000.00	1 / lump sum	\$340,000.00	Υ	Υ			
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	code:						

PNC2115491C101-03 Plant Site Pum	ip Station 5		,		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MCM ^{II}	First Offer - \$486,300.00	1 / lump sum	\$486,300.00		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Poole & Kent Company of Florida	First Offer - \$500,000.00	1 / lump sum	\$500,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cardinal Contractors, Inc.	First Offer - \$700,000.00	1 / lump sum	\$700,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Kirlin Florida, LLC [Ad]	First Offer - \$752,886.00	1 / lump sum	\$752,886.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Kirlin Florida, LLC [Ad]	First Offer - \$3,786,440.00	1 / lump sum	\$3,786,440.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
MCM ^{II}	First Offer - \$5,315,474.00	1 / lump sum	\$5,315,474.00		Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Poole & Kent Company of Florida	First Offer - \$6,320,500.00	1 / lump sum	\$6,320,500.00		Y
Product Code: Agency Notes:		Other Bidders'pricing	ice is based upon spec may be based upon u ot equal and substantia	napprove	d
Cardinal Contractors, Inc.	First Offer - \$6,749,000.00	1 / lump sum	\$6,749,000.00		Υ
Product Code:		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

PNC2115491C101-05 Ocean Outfall F	PNC2115491C101-05 Ocean Outfall Pump Station							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cardinal Contractors, Inc.	First Offer - \$1,341,000.00	1 / lump sum	\$1,341,000.00		Υ			
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:					
Poole & Kent Company of Florida	First Offer - \$1,700,000.00	1 / lump sum	\$1,700,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
MCM ^{II}	First Offer - \$1,742,500.00	1 / lump sum	\$1,742,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Kirlin Florida, LLC [Ad]	First Offer - \$2,573,000.00	1 / lump sum	\$2,573,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PNC2115491C101-06 Upgrade & Replacement of One 500 HP Ocean Outfall Pump Station Liquid Rheostat									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cardinal Contractors, Inc.	First Offer - \$352,000.00	1 / lump sum	\$352,000.00		Υ				
Product Code: Agency Notes:	Supplier Product C Supplier Notes:	Code:							
Poole & Kent Company of Florida	First Offer - \$400,000.00	1 / lump sum	\$400,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
MCM ^{II}	First Offer - \$420,400.00	1 / lump sum	\$420,400.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Kirlin Florida, LLC [Ad]	First Offer - \$500,000.00	1 / lump sum	\$500,000.00		Υ				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								

PNC2115491C101-07	Upgrade & Replacement of Five	1000 HP Ocean Outfa	I Pump Station	

	1 agc 3 01 0			,		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Cardinal Contractors, Inc.	First Offer - \$1,364,000.00	1 / lump sum	\$1,364,000.00		Υ	
Product Code: Agency Notes:	Supplier Product (Supplier Notes:	Code:				
Kirlin Florida, LLC [Ad]	First Offer - \$1,500,000.00	1 / lump sum	\$1,500,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Poole & Kent Company of Florida	First Offer - \$1,700,000.00	1 / lump sum	\$1,700,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
MCM ^{II}	First Offer - \$1,747,700.00	1 / lump sum	\$1,747,700.00		Y	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					

DNO011E40101 01 00 Occasion Occident		- II Danaina			
PNC2115491C101-08 Ocean Outfall P	ump Station Wet W	eli Repairs			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
MCM ^B	First Offer - \$200.00	150 / cubic foot	\$30,000.00		Υ
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:			
Poole & Kent Company of Florida	First Offer - \$350.00	150 / cubic foot	\$52,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Cardinal Contractors, Inc.	First Offer - \$465.00	150 / cubic foot	\$69,750.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Kirlin Florida, LLC [Ad]	First Offer - \$500.00	150 / cubic foot	\$75,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PNC2115491C101-09 Removal and D	isposal of Lead Bas	ed Paint Materials				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Kirlin Florida, LLC [Ad]	First Offer - \$10.00	4000 / square foot	\$40,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Co Supplier Notes:	ode:				
Poole & Kent Company of Florida	First Offer - \$30.00	4000 / square foot	\$120,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
MCM	First Offer - \$45.00	4000 / square foot	\$180,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Cardinal Contractors, Inc.	First Offer - \$46.00	4000 / square foot	\$184,000.00		Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:					

PNC2115491C101-10 All Other Work Associated with the Project								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
MCM [■]	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Poole & Kent Company of Florida	First Offer - \$100,000.00	1 / lump sum	\$100,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

		County Comm	nissioners	Page	e 4 of 6
Cardinal Contrac		First Offer - \$292,000.00	· · · · · · · · · · · · · · · · · · ·	\$292,000.00	Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:	
Kirlin Florida, LLC	[Ad] [#]	First Offer - \$1,438,446.00	1 / lump sum	\$1,438,446.00	Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes:	ode:	
Supplier Tota	ls				
f MCM			\$10,400,000	.00 (10/10 items)	
m	ristyn Jackson cmflcivest@mcm-us.com h 305-541- 0000	1	Address 6201 Sw Miami, FL		
Bid Bond	(Status: Authorized on Ma	r 7, 2018)			
Agency Notes	s:		Supplier Notes:		Head Attch:
Bid Allowance					\$305,000.00
f Poole & Ke	ent Company of Florida		\$11,29	93,000.00 (10/10 it	ems)
Bid Contact	Wendy Campbell wendyc@pkflorida.com Ph 305-325-1930 Fax 305-324-0522		Address 1781 N.W. Miami, FL		
Supplier Code	VS0000013976				
Bid Bond	(Status: Authorized on N	Mar 9, 2018)			
Bid Notes	 See note for Bid Item Poole & Kent meets to forms upon the County's 	he 25% CBE Participa	ation Goal and will p	provide the required	
Agency Notes	s:		•	m 01-04. the 25% CBE Participat the required forms upon	_
Bid Allowance					\$305,000.00
f Kirlin Florid	da, LLC [Ad]		\$11,34	15,772.00 (10/10 ite	ems)
Bid Contact	Anthony Fritz mtabela@jjkllc.com Ph 954-739-8100 Fax 954-739-3971		200	Commercial Blvd, So	uite
Supplier Code	VS0000005157				
Bid Bond	(Status: Authorized on F	Feb 26, 2018)			
Bid Notes	Addendum 1, 2, 3, 4, 5 a	and 6 acknowledged			
Agency Notes	s:		Supplier Notes: Addendum 1, 2, 3, 4	, 5 and 6 acknowledged	Head Attch:
Bid Allowance					\$305,000.00
f Cardinal C	ontractors, Inc.		\$11,445,750	.00 (10/10 items)	
Bid Contact E	ric Macek		Address 4744 E St	ate Road 64	

Broward County Board of County Commissioners

Exhibit 1

	County Commissioners	Page 5 of 6
emacek@prim.com Ph 941-377-8555 Fax 941-377-8542	Bradenton, FL 3420	8
Agency Notes:	Supplier Notes:	Head Attch: ∄
Bid Allowance		\$305,000.00

No Bids

Florida Design Drilling Corp. Project is too large for us.